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1. FEEHEHIRA
@ FEARRpEE LA 10, 000 6, 049 3,951
FEAR I BER B 10, 000 6, 049 3,951
@ FFEBEMEEHNA 3, 000 2,821 179
W B FER B 3, 000 2,821 179
@ FHH&IA 8, 050, 000 7,161, 043 888, 957
PRFES HT 4 7, 000, 000 5, 615, 000 1, 385, 000
EESEas 2 N 1, 000, 000 1, 506, 043 A 506, 043
F Dt EFT 4 50, 000 40, 000 10, 000
@ AHEAI AN 500, 000 425, 750 74, 250
FIA#EABEEUA 200, 000 186, 000 14, 000
AEFAMENA 300, 000 239, 750 60, 250
® HEA 7, 000 215, 392 A 208, 392
=4 ISYIYON 1, 000 64 936
MDA 6, 000 215, 328 A 209, 328
HETRENIAG 8,570, 000 7,811, 055 758, 945
2. FHETHH
O FEHIMN
DAEEE 1, 654, 000 1, 888, 434 A 234,434
SeB R 1, 300, 000 1, 225, 482 74,518
(E35 400, 000 1,877,817l A 1,477,817
HEIRE R 140, 000 30, 000 110, 000
T OMDOEE X 99,913
AL B2 870, 000 787, 108 82, 892
Er 3 &k 4, 364, 000 5,908, 754] A 1,544, 754
@ EHEIE
ESC ey 400, 000 400, 000 0
it 53, 000 34, 575 18, 425
R AR 41, 000 19, 940 21, 060
B AF R 80, 000 69, 147 10, 853
VEAES b 2 150, 000 183, 082 A 33,082
Il A 2 50, 000 70,710 A 20,710
HERBE 80, 000 71, 810 8,190
FBLAGE 220, 000 205, 800 14, 200
TR TECE 35, 000 43, 864 A 8,864
B 60, 000 70, 839 A 10, 839
EELE R 1, 169, 000 1, 169, 767 A 767
R S HE 5, 533, 000 7,078,521 A 1,545, 521
R ENI G GERR 3, 037, 000 732,534 2,304, 166
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1. HEIEEHIRA
O FAPER AR A 0 0 0
TE W TR 4 BRI 0 0 0
@ FFEBEERRIA 5, 000, 000 2, 747, 400 2, 252, 600
VG 7 2 B AR S P U A 0 0
KIARUERERE LG FERUR I 5, 000, 000 2, 747, 400 2,252, 600
Beg R G 5, 000, 000 2, 747, 400 2,252, 600
2. WEEHLH
O FEARB RS H 0 0 0
RIS 0 0 0
TE W TR 4 U 2 H 0 0 0
© FrEE RS 3, 000, 000 3, 506, 043 A 506, 043
Vo = S B R N PE IS S 1, 500, 000 1, 500, 000 0
KIRAEREFE LG FERUS 1, 500, 000 2,006, 043 A 506, 043
@ BEEEEREH 5, 000, 000 1, 247, 400 3, 752, 600
T L B 3 5, 000, 000 0 5, 000, 000
- i e 32 H 0 0
LW B A 0 1,247, 4001 A 1,247,400
B E 0 0 0
BE R HEt 8, 000, 000 4,753,443 3, 246, 557
BeE IR EhI S =R A 3,000,000 A 2,006, 043 A 993, 957
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1. JWHISEHIA
MBS BN A G 0 0 0
2. MHEILEXH
MBS E L H 5 0 0 0
W BTG BN S KA 0 0 0
IV i & S 1, 000, 000 0 1, 000, 000
EE IS T A 963, 000 A 1,273,509 310, 509
AR I S =R 7,929, 048 7,929, 048 0
TR IR 3 7= 4R 6, 966, 048 6, 655, 530 310, 509




